Anmatbl (7273)495-231
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroBeweHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnaguBocTok (423)249-28-31
BnapukaBka3s (8672)28-90-48
Bnagumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHOypr (343)384-55-89

MBaHoBo (4932)77-34-06
MxeBck (3412)26-03-58
UpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHna (4966)23-41-49
KocTtpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Juneuk (4742)52-20-81

Poccus +7(495)268-04-70

MarnuToropck (3519)55-03-13
MockBa (495)268-04-70

MypmaHck (8152)59-64-93
Ha6GepexHbie YenHsl (8552)20-53-41
HwxHuii Hosropoga (831)429-08-12
HoBoky3Hewk (3843)20-46-81
Hosbpbcek (3496)41-32-12
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHo6ypr (3532)37-68-04

MeHsa (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
MckoB (8112)59-10-37

Mepmb (342)205-81-47

KasaxcraH +7(7172)727-132

PocToB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MNeTep6ypr (812)309-46-40
Capartos (845)249-38-78
CeBacTtononsb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
CeikTbiBKap (8212)25-95-17
Tamb6oB (4752)50-40-97

TBepb (4822)63-31-35

TonbaTtTu (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ynan-Ypa (3012)59-97-51
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
Yenabuhck (351)202-03-61
Yepenosey (8202)49-02-64
Yura (3022)38-34-83
SkyTck (4112)23-90-97
SlpocnaBnb (4852)69-52-93

Kupruaums +996(312)96-26-47

https://toyooki.nt-rt.ru || tik@nt-rt.ru

HY-TEGRA MANIFOLD (HMC, HMD)

HY-TEGRA MANIFOLD (HMC.HMD)

M Outside dimensions

HMD-*-025-03T*

Back piping type
Hole for M12 eyebolt

Model

HMD-*-03-04T*

HMD-1-025-03T*

Back piping type
Hole for M12 eyebolt

Model

HMD-1-03-04T*

60°

Side piping type

HMD-2-025-03T*

HMD-3-025-03T"

HMD-4-025-03T*

HMD-5-025-03T*

=
i A/B port for side
o ..
- £ piping are
o e Reals e provided on the
S both sides of
8 manifold.
A o
= A !
)
& i
. mﬁ‘ ! Rc3/8
R |9l P L.
7 | 76 L7 Unit: mm
- 90 - No.of| |, |Mass
station (kg)
1 130 3.9
, & 2 | 215 66
5 I 3 |300| 95
4—Rc1/2 42 4- M16 prepared
. - hole¢8.5 through hole 4 385| 12.3
5 | 470|151

60°

Side piping type

HMD-2-03-04T*
HMD-3-03-04T*

m‘i o) HMD-4-03-04T*
s s HMD-5-03-04T*
U1 i4-M8depth 125 | Fig
o g oo @
UM ‘
:,I_ B A/B port for side
0@_7544,‘ —* £ piping are
Solenoid El provided on the
valve center /2 = both sides of
E Af\ manifold.
ot B|
T - AT
©|
@ T
L—’48 Reli2 Unit: mm
z No. of H Mass
station (kg)
A 2 1 1150| 6.7
(@an)
©&'s 2 | 250| 115
s ot
S 3 | 350 16.4
4—Rc3/4 | |, 56 | 4- M16 prepared
hole¢8.5 through hole 4 450| 21.3
5 | 550| 26.2

INFLSAS YHOI1-AH



M Description of the model designation

HMD-1-025-03TY2

J — TY2: Thread connection, side face piping
Pipe size 03: Rc3/8
Nominal size of applicable valve

No. of station: 1 to 11

Manifold
B Outside dimensions
HMD-*-025-03TY2
32,501 4=¢8.5 2—Rc1/2
From back, M10 x 15
A
o o S‘ pas - B ¥ N <3
Sy ® Al § 7N
v ~ & 1 R T J Festtussess sovpptiu
E g‘ é é 9 20.8:0.1 9
1 N by ‘KE 25 31201 36:02
— L eoa) [ s0(8) ] . 55(C)
m L 68
% Hole for M12 eyebolt
> AN
o %(i‘i’r,
0p) g TeBler
—< >
m .23, 8/8
Z 119,119,
Unit: mm
No. of
station 1 2 & 4 5 6 7 8 9 10 11
L (A)+(C) | (A)+(B)+(C) | (A)+2(B)+(C) | (AI4+3(B)+(C) | (A)+4(B)+(C) | (A)45(B)+(C) | (A)46(B)+(C) | (A)47(B)+(C) | (A)+8(B)+(C) | (A)4+9(B)+(C) | (A)4+10(B)+(C)
(Total Length (nm))| 115 165 215 265 315 365 415 465 515 565 615

SPACER (Mounting size change plate)

M Outside dimensions

HMD-025-03G1

O-ring 4—JIS B2401—1AP28
O-ring JIS B2401—1AP11
4

£

HMB-04-06G1

e

O-ring 5—JIS B2401—1BP12

70
120

SRS

165

Q|
\ .70
6-913

®19 counter bore depth 13
Mass: 8.8kg

fb@‘#ﬁ—’
|

O-ring
2—JIS B2401—1AP15

%\ s
4—¢9

¢13.5 counter bore depth 10

Mass: 1.9kg

O-ring 4—JIS B2401—1AP28
O-ring JIS B2401—1AP11

HMB-03-06G1

14

120

70

.
\6—4:13

®19 counter bore depth 13
Mass: 9.2kg

O-ring
2—JIS B2401—1AP15




PLATE

HMOutside dimensions

HMS-CA-HD3-025 O-ring 4—JIS B2401—1AP9 HMS-CA-HD3-03 O-ring 4—JIS B2401—1AP12
8 4—¢5.5 hole 11 4—¢8.5 hole
P ‘FT
[Te)
M5 ® o 2 me,/ | SIS
0] 0]
N 15.5 40.5 N 23 54
N |12 74 N | 19 100
[} 0 =
Mass: 0.4kg Mass: 1.1kg
MOUNTING BOLTS
B Hexagon socket head bolt
tsigg&mg 025 03 06 T
2 HKS-NA-5x65 HKS-NA-8x95 HKS-NA-12x145 '|<
3 HKS-NA-5x100 HKS-NA-8x150 HKS-NA-12x230 H
4 HKS-NA-5x135 HKS-NA-8x205 HKS-NA-12x315 Q
5) HKS-NA-5x170 HKS-NA-8x260 HKS-NA-12x400 m
B Stud bolt (with clamp nut) Wl Straight dowel pin wn
o & S
%ﬁé&ns 025 03 06 %‘gﬁ'c?dng 03 06 (il)
2 HKS-NC-5x71 HKS-NC-8x106 HKS-NC-12x157 2 — HKS-NB-12x167 m
3 HKS-NC-5x106 HKS-NC-8x161 HKS-NC-12x242 3 HKS-NP-5x90 HKS-NB-12x252 Z
4 HKS-NC-5x141 HKS-NC-8x216 HKS-NC-12x327 4 HKS-NP-5x145 HKS-NB-12x337
5) HKS-NC-5x176 HKS-NC-8x271 HKS-NC-12x412 5 HKS-NP-5x200 HKS-NB-12x422
@Examples

(1) When only hexagon socket head bolts are used

Solenoid valve Manifold Mount the stacked valves to the manifold or remove them from it while
hexagon socket head bolts are set through the stacked valves.

(For size 03 or 06, also use straight dowel pins.)

Stacked valves S

W

Hexagon socket head bolt

(2) When stud bolts and hexagon socket head bolts are used
Example installation order: D—@—-3—@

| (D Screw stud bolts into the manifold.

(@ Stack the valves. (®Tighten the hexagon head socket bolts. @ Tighten the clamp nuts. |
2 stud bolts arranged diagonall
( QY gonally) “ “ “
& =i W%ﬁ W%b WE@
Hexagon head
Stud bolt socket bolt Clamp nut
Manifold %I ==
%
| [4]JRemove the bolts. [3]JRemove the valves. [2)JRemove the hexagon socket head bolts. [1JRemove the clamp nut. |

Example removal order: [1)—[2)—(3)—[4]

€ @ @ Cautions for Removal ¢ ¢ ¢

When loosening a clamp nut, the stud bolt may turn with the clamp nut to be removed.
If this happens, tighten the stud bolt again and then remove the hexagon socket head bolts.




HMC-*(E) -06-08T*

Back piping type
Hole for M12 eyebolt
M16f5 Side piping type

Solenoid valve
center ’
o)
M12x18 } A T
130.2 5
_$7x8 1 8
o 158 - €
3 4xSerial number
L 118 = ° Ret
Solenoid valve . 88 '§
center & /
X
g L)
- w0
©
A
S of
i ®
2- Rc3/8 (PLT connection port)
(Same position on symmetry is

the DR1 connection port.)
2- Rc3/8 (DR2 connection port)

4—Rc1 1/4

NOTE: The PLT connection
port is provided on
HMC-*E-06-08T" only.

4—M16x20
Unit: mm
Model a b ® d e |Mass (kg)
T1 | 11| 56| 60| 74
HMC-1 (E) -06-08T* 225 25.9
T2 | 13| 70 | 54 | 65
T1 | 11| 56| 60| 74
HMC-2 (E) -06-08T* 380 43.7
T2 | 13| 70 | 54 | 65
T1 | 11| 56| 60| 74
HMC-3 (E) -06-08T* 535 61.4
T2 | 13| 70 | 54 | 65
T1 |11 | 56| 60| 74
HMC-4 (E) -06-08T* 690 79.1
T2 | 13| 70 | 54 | 65
T1 | 11| 56| 60| 74
HMC-5 (E) -06-08T* 845 96.8
T2 | 13| 70 | 54 | 65

Anmarthl (7273)495-231 WBaHoBo (4932)77-34-06

MarnuToropck (3519)55-03-13

B Description of the model designation

HM*=* ( E) ke kkk

PocToB-Ha-[loHy (863)308-18-15

= Pipe position

T1: Thread-connection back side piping
T2: Thread-connection side face piping

Piping size
03:3/8 04:1/2 08:1

Nominal size
025, 03, 06

(E)

E is indicated for the external-pilot type

solenoid valve size 06.
No. of station

1: 1 station 2: 2 stations  3: 3 stations

4: 4 stations 5: 5 stations

Manifold
HMD: 025, 03
HMC: 06

TonbaTtu (8482)63-91-07

Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTtpaxaHb (8512)99-46-04
Bapnayn (3852)73-04-60
Benropogp (4722)40-23-64
BnaroBeweHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnapusocTok (423)249-28-31
Bnapukaeka3s (8672)28-90-48
Bnapgumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHOypr (343)384-55-89

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
Ka3zaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
TNvneuk (4742)52-20-81

Poccua +7(495)268-04-70

Mockga (495)268-04-70

Mypmanck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
Huxnuit Hosropog, (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hos6pbck (3496)41-32-12
HoBocubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeH6ypr (3532)37-68-04

MeH3a (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
Mckos (8112)59-10-37

Mepmb (342)205-81-47

Kasaxcran +7(7172)727-132

PAsaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkr-MNeTep6ypr (812)309-46-40
CapatoB (845)249-38-78
CeBacTtonons (8692)22-31-93
CapaHck (8342)22-96-24
Cumdpeponons (3652)67-13-56
CwmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
CbikTbIBKap (8212)25-95-17
Tamb6oB (4752)50-40-97

TBepb (4822)63-31-35

Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbaHoBck (8422)24-23-59
Ynan-Ya3 (3012)59-97-51
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
YensabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Yura (3022)38-34-83
SAkyTck (4112)23-90-97
Slpocnaenb (4852)69-52-93

Kupruaus +996(312)96-26-47

https:/[toyooki.nt-rt.ru || tik@nt-rt.ru



	Пустая страница



